Combining sound levels

Slide#12 solution)

L,, = 10logq, le‘/ef

w
Wie f

Lot — 1(68/10 4 1075/10 4 1079/10 = 1,17 x 10°
Wref

Ly tor = 10l0g;0(1.17 x 108) = 80.7 dB

— 10LW/10




Weighting networks

Slide#17 solution)

i) 100 Hz
A=-19.1,B=-5.6,C=-0.3

= 49.9 dBA, 54.4 dBB, 59.7 dBC

i) 1000 Hz
A=0,B=0,C=0
> 60 dBA, dBB, dBC

iii) 10000 Hz
A=-25,B=-4.3,C=-4.4
- 57.5dBA, 55.7 dBB, 55.6 dBC



Sound rating systems

Slide#20 solution)

Leq — 10l0910[2?=1 10Li/10 . ti]
_ 45/10 |, 1min 38/10 , 3Mmin 36/10 , 1™min
= 10logy, [10 X TR 4 1038/10 5 2B 4 1036/10 x Smm]
=40.4 dBA

The result exceeds the L, limit of 40 dBA for air-transmitted noise at
nighttime. You got the data to file a lawsuit!



